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[bookmark: _GoBack]Vytvořte příběh z následujících vět, do mezer doplňte sloveso ze závorky ve správném tvaru. Další věty můžete vymýšlet. Používejte 2. kondicionál.

If I                      (have) a good job, I                (earn) a lot of money.
If I                      (earn) a lot of money, I                      (travel) round the world.
If I                      ( travel) round the world, I                (meet) a lot of interesting people.
If I                  (meet) a lot of interesting people, I                  (make) more new friends.
If I………………………………………………………vymýšlejte pokračování.

Vyberte správné sloveso do textu o  zaměstnání  a dejte ho do správného tvaru.
Wear, be, become, check,
1. If I was taller, I ________ a policeman, but I´m too short. If I _______
a policeman, I would _______ a uniform. If I wore a uniform, I´d walked
around the city and I´d__________the order in the city.

Have(2x), earn, run, rob,  work,  buy, can(2x),  build, visit, need, go,  open, not/rob
2. If I____________cook as well as you, I´d _____________a restaurant. If I________a restaurant, I´d________________a good waiter or waitres. A lot of people __________my restaurant  if a good waiter_____________ there. If a lot of people___________ into my restaurant, I´d ____________a lot of money. If I earned
so much money, I´d______________ a new house with a big garden. If I ____________ a big garden, I´d _________ a dog.If the dog _______________round the garden, the thieves wouldn´t______________my home. If the thieves_____________ my home, I __________be happy.

